Il REB =

FRI0F4R1B~FRITEIAINA

(FM) SHTEIA0EEE (FM)
BEEXBERODEER INZEHESE
1 EE D oI EEDO I EEEIBHIZOE
| RBAE 158.036|1 RBAR 53228| 1 SEEBMIA 252.636
? BEAR 146,890
? BEAE BEAR 200,118| 2 BEEMZE 165,354
(1) EAEI 334.898
Tib-EY- B I ERHEOH EEEHNZESR 87 282
Q) EERE 01 —REHBE 834 131
BRI 799,984 IBREEDOH 0
(3) FDEEEE 0 I B4 755 E B D &R 0
4) B R A A 253,669 2 EEER 6,442
BESH 1,034,250| BEERMES 1,034,250 | LM% =R 93.725
EXHEORE
- - I %4)&115@:;%?31535@ 2 —
1 5 9 13
(Hgﬂéﬁg) 179,526 (Hgﬂéﬁg) 297,316 (Hé‘liﬁﬁf) 478,293 (Hé8£ﬁ§) 765,427
2 6 10 14
(Hgﬂéﬁg) 203,906 (Hgﬂéﬁg) 310,112 (Hésiﬁﬁf) 517,452 (H29& ) 942,194
3 7 11 1587
risgEE) | %712 lmam) | 3727 |(eemm)| PPV | (hzosm) 1,034,250
F45A 8 F 128
o) | 273197 | (osem) | 423002 |Goremy| 719386




